FiZEL =M 1Tl

SH3EI108A178(A) 1 yb, 25#&h, 37V bR vk, 4HDCP

[[EX 2 K4 79k 4> (OXRHDCPi 3wk
15K = 47 45 92; 228 692
2ilUN EAL 42 36 78 6.0 720
3K H %% 42 42 84! 120/ 720
48 EX 49 49 08/ 2521 728
5i=’d &% 45 41 86/ 132/ 728
6 FIE Hii— 42 44 86/ 1321 728
1Ef% A= 41 44 85/ 120/ 730
S8R H 47 43 90! 16.8/ 73.2
OFHF EXH 49 47 96; 228 732
10 4K #hEH 46 49 95/ 216/ 734
1138 8 46 48 94 204! 73.6
12))1U8 FE— 42 39 81 7.2 738
13{FEF| {Rsh 41 44 85/ 10.8 74.2
14K §%xX 41 43 84/ 96/ 744
15 A [EiE 45 44 89 144! 746
16iF% FL1T 49 46 95/ 204 746
170U HA 40 48 881 132! 748
18i{FiE =& 51 52 103! 276! 754
198 ZRA8 45 50 95/ 192! 758
2081 BEBRE 55 46 101} 252 758
213RH HiR 46 43 89! 132/ 758
22 8w JEN 44 50 94! 180 76.0
23 EEN BHE 43 43 86/ 9.6/ 764
24 5% T E[E 46 51 97/ 204! 76.6
25 Il R 48 43 91, 14.4] 76.6
26 #8H 3= 56 55, 1111 336/ 77.4
27 8H H 52 47 99 216/ 774
28 BHIE E— 45 47 92! 144) 776
201 A EIE 43 41 84, 6.0 780
30.#fH FE 54 53; 107} 2838 782




FiZEL =M 1Tl

SH3EI108A178(A) 1 yb, 25#&h, 37V bR vk, 4HDCP

[[EX 2 K4 79k 4> (OXRHDCPi 3wk
31 U0 #E 48 47 95/ 16.8 78.2
32/ Pk ZAT 50 511 1011 228 782
JBEE RE 53 52! 105! 26.41 78.6
4Tt EE 47 51 08/ 192! 7858
35 fEF 1ER 50 54 104} 252 78.8
36 =B —FK 50 511 101} 216 79.4
37.8:3F fi— 56 55 111} 312 7958
38IKA —F+| 51 47 98 18.0/ 80.0
39 B B 50 47 97, 16.8] 802
40idfin] BF 56 61/ 117, 348 822
AR 1B 50 51 101} 18.0i 830
12 5% EFRX 48 50 08 14.41 836




